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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

80+89+35=

33+93+40=

12+14+82=

28+22+19=

21+27+94=

61+ 18+ 92=

62+ 56 + 24 =

76+95+23=

/5+67+63=

33+24+85=

62+ 82+ 76=

90+10+62=

87+58+71=

69+89+14=

Answers

10.

11

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name.Answer Key

Solve each of the problems. Answers
1) 80+89+35= 204 s
1.
2) 33+93+40= 166 2. 166
3, 108
3 12+14+82= 108
4 69
4) 28+22+19= 69 5 142
6. 171
5 21+27+94= 142
7 142
6) 61+18+92= 171 . 194
205
7) 62+56+24= 142 %
10. 142
8 76+95+23= 194 250
11.
9 75+67+63= 205 12. 162
13, 216
10) 33+24+85= 142
14, 172
11) 62+ 82+ 76= 220
12) 90+ 10+62= 162
13) 87+58+71= 216
14) 69+89+14= 172
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Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

204
166

142 108
142 205

171
142

69
194 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

80+89+35=

33+93+40=

12+14+82=

28+22+19=

21+27+94=

61+18+92=

62 +56 + 24 =

76+95+23=

/5+67+63=

33+24+85=

10.

M odified
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